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Convert larger to smaller by multiplying

|

|

I M 100 th| 10 th | th h t o 4 1/10] 1/100 |1/1000

|

:example 1 5 ¢ 6 cm
l 1 5 6 mm
I

I 1 2 m
: cm
|

| 6 3 2 km
I m
|

I

: 2 5 3 cm
: mm
|

|

! 1 4 1 0 2 m
: cm
|

| 0 2 5 1 |km
|

|

|

|

2) Sargagzha&touxb@shﬁpoe]:papen7mlon9/bubon@ha&
a ruler thaty measures v mmu Howmang/mmshould,hej

3) Akoshsag&5.67mls/lf)s&’drm 56 /cm. I&hf/r\ig)nb?
lr) What would you do to change kilogrames into- grams?


https://watchkin.com/fc9a1874b0

Feeiingx Conuﬁder\t**

CONVERTING METRIC UNITS - LENGTH SHEET
|

lcm=___ mm
3cm=___mm
Im=___cm
3m=___cm
lkm=___m
3km=___m

Which is the most? Circle the largest amount in each box.

Im 10 m 100 m Im
Cikm> 100 cm 500 cm 200 cm
l1cm 200 mm 1km 300 mm

Use greater than (>), less than (<) or equals (=) to compare the amounts.

1) 1m > 10cm 2) 1km 1000 m
3) 20 mm l1cm 4) 80 cm 1m
5) 200 m 1km 6) 3cm 40 mm

) John rode 2 kilometres on his bike. HL&sisi‘enSoJlg/r\ode
3000 meters orv her bike. Whor\ode’the([:w\thestand/
hour much farther did they rde (answer trv km))?



2) Jessicas is measuring two- line segments. The first line
segm,entts/3o e long. Th@secondwwsegmer\tt&SOO
mry Long. How[ong/w\eﬂr\ehuomsegment&tog,ethﬂ\?
(an&mlmum)

3) Lois wants to sends a box of oranges to- as friend by
mail. The box of oranges cannot exceed, a mass of 10
kg. If each orange has a mass of 200g, what is the
Py rumber she carv send?

L)V\/ali‘;gmu@ cmhmeh%w|g,ean. He s nour 1.6 mv tall.
How tall was he | year ago?

S) Mary buys a reel, of thread, for sewing. There are [0 m,
of thread on the real. She uses 210 e How muchs s
be}tomﬂrwr\e)ebbmcer\tmwir@s/?

6) 30 g serving of a certairy breakfast cereal has 0.5 g of
salt. Howrrm&vsabbwould’dnabbe%rmlhgmm

7) Canlos has o 1.2 meter long plece of wood: He wants to
uxblbmto3eq¢mlm9ﬂﬂ&. Howlongxshould/eadmpxm
be iy millimetres?



Amir buys 2,500 grams of potatoes and
2,000 grams of carrots.

He pays with a £5 note.
How much change does he get?

Ribban is sold in 225 mm pieces.
Teddy needs 5 metres of ribbon.
How many pieces does he need to buy?

Teddy would like to make either a
bookmark or a rosette with his left over
ribbon. Which can he make?

To make 5 bookmarks you will
need:

1.2 metres of ribbon

1 pair of scissors

To make 1 mini rosette you will
need:

4 pieces of ribbon cut to 35 mm
A stapler

Eva is converting measurements.
She says,

| have divided by
;A 1,000 to convert the
measurements.

Which conversions could Eva have
completed?

+  3km — 3000 m
+ 3000m = 3 km
+ 5500g — 55kg

« 28kg — 2800¢g
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. One inch is approximately 2.5 centimetres
Tinch= 25 cm
Use the bar models to help with the conversions.

?cm ?in
f A ] (—L\

Tin|lin|Tin|1in 5cm

16in = :]cm 10cm = :] in
15in = C]cm lem = [:] in
33in = [:] m 55m = :] in

. 1 kilogram is approximately 2 pounds
Tkg =2 lbs
Use this information to complete the conversions.
2kg = lbs 5kg = lbs
kg =~ 22 |bs 55 kg =~ lbs

. There are 568 millilitres in a pint.
How many litres are there in:

. [ 5 pints ] [D.S pints] [ 25 pints|

Jack's house has 3 pints of milk delivered
4 times a week.

How many litres of milk does Jack have ~ 50
delivered each week? @ -

* Dora weighed 7.8 |bs when she was

born.
*  Amir weighed 3.5 kg when he was
born.
He uses about 200 ml of milk every day
in his cereal. Approximately, how many Who was heavier, Dora or Amir?
pints of milk does Jack use for his cereal Explain your answer.

in a week?


https://www.schoolsofkingedwardvi.co.uk/ks2-maths-year-5-3b-measurement-measurement-conversion/
https://www.bbc.co.uk/bitesize/topics/z4nsgk7/articles/zwbndxs

Convert larger to smaller by multiplying

3) No, they are the, same;
) Muliply by 1000

M 100 th| 10 th th h t 0 1/10| 1/100 |1/1000
example 1 5 6

1 5 6
1 2
1 2 0 0

6 3 2
6 3 2 0
2 5 3
2 5 3 0

1 4 1 0 2
1 4 1 0 2

0 2 5 1

2 5 1

cm
mm

cm

km

cm
mm

cm

km
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lcm =10 mm

3cm =30 mm
Im =100 cm
3m=300cm
1km = 1000 m
3km = 3000 m

Which is the most? Circle the largest amount in each box.

1m 100 m im

1cm 200 mm @ 300 mm

Use greater than (>), less than (<) or equals (=) to compare the amounts.

1) 1m > 10cm 2) 1km T 1000 m
3) 20 mm > lcm 4) 80 cm < 1m
5) 200 m < | 1km 6) 3cm | < | 40 mm
7) 10 mm t lcm 8) 2 km T 3000 m
9) 3m > 40 cm 10) 500 cm T 3m

) Sally by km
) 80cm,
3)50 (L9 if yow include the, weight of o, box)
)1.5%m




Amir receives Alex sells 54 12 pints is

S— glasses. approximately
p change. " ’ 6,816 millilitres, or
eX Makes 6.8 litres.
£19.83 profit.
Teddy buys 23

Eva could have
converted 3,000
m to 3 km or
5500 gto 55 kg.

pieces of ribbon.

Teddy will have
175 mm left over.

A bookmark needs
240 mm, and a
rosette needs 140
mm so he can
make the rosette.

Readxgzuﬁor\ o! Chaueng,e/***

) L.Ocm 2) 37.5em 3) 0.825m
) Lin 2) O.Liny 3) 220

Children convert 200x 7 =

both measures to 1,400 ml

the same unit. 1400 = 568 =
2.46 pints

Dora weighed

approximately 3.9 So Jack uses

imately 2
kg and Amir approximately

and a half pints.
weighed 3.5 kg so

Dora was heavier.



